réf. 1706879564 & LITO7 - Fiche d’entrainement Pas de calculatrice

| Compétence travaillée | Difficulté | Socle commun | Nombre d’erreurs |
| Développement double | s %k \ \ |

Développer et réduire les expressions littérales suivantes.

1)3(2—-5y)(=3y—5)+(-2y—3)(3—5y) =

2) (3 —4a)(—3a+3) —4(—4a—4)(5+4a) =

3) (5a—2)(—5a+3)+(—4+3a)(—5+3a) =

4)2(5a+5)(—3+3a)+3(3—5a)(5—4a) =

5) =2(=5a—5)(—4+4a)+ (3—5a)(—5+3a) =

1)|55y% + 66y —39, 2) 764 + 123a+ 89
3)|—16a*> —2a+ 14 4)190a* — 111a+15
5)|25a* +34a — 55
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